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ANTHROPOLOGY
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Ethnography is the study of :

(A) Human races (B) Human Evolution
(C) Cultural description (D) Cultural remains
2. Participant observation is widely used in :

(A) Social-cultural Anthropology (B)  Sociology

(C) Social Work (D) Psychology
3.  Identify the Neo-Darwinian from the following :
(A) E.A. Hooton (B) Mendel
(C) Wallace (D) Dobzhansky
4.  Diastema is present on the :
(A) Tooth (B) Femur
(C) Fibula (D) Dental arch
5.  The first evidence of man’s intentional use of fire occurs with :
(A) Homo erectus (B) Homo sapiens
(C) Homo africanus (D) Neandarthal
6.  The genotype ratio of a monohybrid cross is :
(A) 3:1 B) 2:2:1 < 2:2 (D) 1:2:1
7.  Pattern Baldness in Man is :
(A) Sex-limited (B) Sex-linked
(C) Sex-influenced (D) Non-heritable

D -0707 2
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10.

11.

12.

13.

14.

The x2 test is computed for :
(A) Qualitative data (B) Quantitative data

(C) Population mean (D) Sample mean

The Mongoloid element is common among the people of :
(A) Africa (B) Himalayan Regions of India

(C) Australia (D) Southern India

The first anthropological definition of culture was given by :

(A) Aristotle (B) R. Linton (C) E.B. Tylor (D) V. Elwin

Multilinear evolution was proposed by :

(A) Julian Steward (B) E.B. Tylor (C©) L.H. Morgan (D) M. Sahlin

When parents and their unmarried children reside together then they constitute :
(A) Extended family (B) Joint family

(C) Nuclear family (D) Broken family

After marriage, when a couple resides with husband’s parents family, it is called :

(A) Matrilocal (B) Neolocal (C) Virilocal (D) Patrilocal

When a woman is simultaneously married to two or more brothers, it is called :
(A) Fraternal polyandry (B) Monogamy

(C) Group marriage (D) Polygynandry

D -0707 4
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15.  Which one of the following is a classificatory kin term ?

(A) Brother (B) Sister (C) Grand father (D) Son

16. The economic organization of the Trobriand Islanders was studied by :
(A) Raymond Firth (B) B. Malinowski
(C©) M. Mead (D) R.C. Gropper

17. Who is the author of the book “Man makes himself” ?
(A) H.D. Sankalia (B) M. Burkitt
(C) L.S.B. Leaky (D) Gordon Childe

18. During which cultural period early man developed blade-burin technique ?
(A) Mesolithic (B) Chalcolithic
(C) Upper Palaeolithic (D) Neolithic

19. Mention the geological period with which Moraine is associated ?

(A) Pliocene (B) Miocene (C) Pleistocene (D) Holocene

20. Mention the name of the prehistoric site from where the evidence of Acheulian Hand
axe culture was found in India.

(A) Deojali Hading (B) Bagor
(C) Vadamadurai (D) Bhimbetka

21. Identify the correct sequence :

(A) Prosimians — New world monkeys — Old world monkeys — Apes
(B) Old world monkeys — Prosimians — New world monkeys — Apes
(C) Apes — New world monkeys — Prosimians — Old world monkeys
(D) Old world monkeys — New world monkeys — Apes — Prosimians
22. Identify the correct sequence :

(A) Zygotene — Leptotene — Diplotene — Pachytene

(B) Leptotene — Zygotene — Pachytene — Diplotene

(C

(

) Diplotene — Zygotene — Leptotene — Pachytene
D) Pachytene — Leptotene — Diplotene — Zygotene

D -0707 6
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23. Identify the correct sequence :

(A) Clan — Moiety — Phratry — Lineage
(B) Phratry — Lineage — Moiety — Clan
(C) Moiety — Lineage — Clan — Phratry
(D) Lineage — Clan — Phratry — Moiety

24. Identify the correct sequence :

(A) Functionalism — Symbolism — Structuralism — Structure-functionalism
(B) Symbolism — Structuralism — Structure-functionalism — Functionalism
(C) Functionalism — Structure-functionalism — Structuralism — Symbolism
(D) Structure-functionalism — Symbolism — Functionalism — Structuralism

25. Identify the correct sequence :

(A) Aurignacian — Perigordian — Magdalenian — Solutrean
(B) Perigordian — Aurignacian — Solutrean — Magdalenian
(C) Solutrean — Aurignacian — Magdalenian — Perigordian
(D) Solutrean — Magdalenian — Aurignacian — Perigordian

26. Match an item in List-I with an item in List-II. Use code given below :

List-1 List-II
(a)  Skull (i)  Scapula
(b) Glenoid Capacity (i) Femur
(c) Greater trochanter (iii) Foot
(d) Talus (iv) Zygomatic arch
Code

(@ (b) (© @
A) (iv) (1) (i) (i)
B) () (1) (i) (iv)
o @) @) (i) (iv)
D) (i) (i) (iv) (i)
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27. Match an item in List-I with an item in List-II. Use code given below :

List-1 List-11
(a) Human Genome Project (i)  Chorionic villus sampling
(b) Prenatal diagnosis of genetic disease  (ii) Transplantation genetics
(c)  Electrophoresis (i) Sequencing of human genome
(d) HLA system (iv) Technique for separation of

proteins
Code :
(@ ® () @
Ay @) @) (v) (i)
(B) (v) @) @ (i)
Q) @ (v @) (i)
(D) @) @) (v) (i)

28. Match an item in List-I with an item in List-II. Use code given below :
List-I List-11

(a) M.N. Srinivas (i)  Structure of Hindu Society
(b) McKim Marriot (i) Mundas and their Country
() N.K. Bose (i) Remembered Village

(d) S.C. Roy (iv) Village India

Code :
(@ () () @)

(A) () (i) @) (i)
B) i) G(v) () (i)
©Q @) (i) &) (o)
D) () @) (i) (i)
29. Match an item in List-I with an item in List-II. Use code given below :
List-1 List-11
(@) Multilinear evolution (i) Division of labour
(b) Jajmani system (i) Jullian Steward
(c) Age and sex (iii) Tribal Development
(d) Dhebar Commission (iv) Caste system

Code :
(@ () () @)

(A) i) () @) (i)
B) () (i) @) ()
© ) (o) @) (i)
D) @) ) (o) (i)

D-0707 10



27. T&U T HIE H ST e Gei-1 F TS B G-I A F faem wife
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30. Match an item in List-I with an item in List-II. Use code given below :

List-1 List-1I
(a) Absolute dating (i) Quaternary
(b)  Neolithic (i) Biface
() Holocene (iii) Polished Celt
(d) Hand axe (iv) Cl4
Code
(@ B () @
(A) @) D) () (i)
B) (o) (i) () (i)
© @ (i) @) (o)
(D) (i) (v) @) ()
31. Match an item in List-I with an item in List-II. Use code given below :
List-1 List-1I
(a) Acheulian technique (i)  Agriculture
(b) Lagnajh (i) Upper Palaeolithic
() Ring stone (iii) Mesolithic
(d) Cave art (iv) Lower Palaeolithic
Code

(@ ® (© @

A) & (i) (o) (i)
B) () @) @) (i)
© G i) () (i)
(D) Gi) () @) ()

32. Match an item in List-I with an item in List-II. Use code given below :

List-1 List-11

a) Population Genetics (@i J. Comas

b) (i) C.C Li

c¢) Manual of Physical Anthropology (i) G.W. Laskar and R. Tyzzor
(iv) V.A. McKusick

(
( Mendelian Inheritance in Man
(

(d) Physical Anthropology
Code :

(@ () (o (@)

(i) (i) (i) (iv)

B) (i) (iv) () (i)

(i) (@) (iv) (i)

(i) (o) (i) (i)

Z

)
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33.

34.

35.

Match an item in List-I with an item in List-II. Use code given below :

List-1 List-11
(a) Growth at Adolescence (i) C. Stern
(b) The Genetics of Human Populations  (ii) S.L. Washburn
(¢) Human Evolution (iii) J.M. Tanner
(d) Principles of Human Genetics (iv) L.L. Cavallisforza and

W.F. Bodmer

(@ ® (o @

(A) @) @) (iv) (i)

B) @) (v) @) (i)

Q) @) (iv) @) @)

D) @ @) @) (i)

Match an item in List-I with an item in List-II. Use code given below :
List-1 List-11

(a) Rectangular settlement (i) Levi Strauss

(b) Kula Ring (i) Indian Village

(c) Structuralism (iii) R. Redfield

(d) Great tradition and little tradition (iv) B. Malinowski

(@ B () @
A) @ @) () (1)
®B) @) @ @) (v)
Q) @ (v) @) ()
(D) () @) @) (i)

Match an item in List-I with an item in List-II. Use code given below :

List-1 List-11
(a) Panchayati Raj (i) Mandal Commission
(b)  Tribal Movements (ii) Local Self Government
(c) Political System (i) Autonomy
(d) Other Backward Classes and Castes  (iv) Chiefdom
Code :

(@ ® (o (@

(A) @ (o) (@) ()
®) @) (o) @) (i)
Q) @) @ @) (v
D) @) @) (v) ()

D-0707 14
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36.

37.

38.

39.

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Kwashiorkor is a form of malnutrition found among certain African
tribes.

Reason (R) : People suffer from Kwashiorkor due to iodine defficiency.
On the basis of the above, choose the correct answer :

(A) Both (A) and (R) true

(B) (A) true (R) false

(C) (A) false (R) true

(D) Both (A) and (R) false

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Man is a tool making animal.
Reason (R) : All primates are tool maker.

On the basis of the above, choose the correct answer :
(A) Both (A) and (R) true

(B) Both (A) and (R) false
(C) (A) true (R) false
(D) (A) false (R) true

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Indian society is stratified on the basis of caste system.
Reason (R) : Caste is related with economic hierarchy.

On the basis of the above, choose the correct answer :

(A) Both (A) and (R) true

(B) (A) true (R) false

(C) (A) false (R) true

(D) Both (A) and (R) false

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Tribal social system is heterogenous in nature.

Reason (R) : Egalitarianism is the feature of the tribal communities of India.
On the basis of the above, choose the correct answer :

(A) Both (A) and (R) true

(B) (A) true (R) false

(C) Both (A) and (R) false

(D) (A) false (R) true
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41.

42,

43.

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Neolithic is described by G. Childe as revolution.

Reason (R) : Cultural complexity of Neolithic is lesser than upper Palaeolithic.
On the basis of the above, choose the correct answer :

(A) Both (A) and (R) true

B) (A) false (R) true

(A) true (R) false

Both (A) and (R) false

Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Homoerectus developed cylinder hammer technique during the
mesolithic culture.

Reason (R) : Cylinder hammer technique helped the early man to produce hand
axes with straight cutting edge.

On the basis of the above, choose the correct answer :
(A) Both (A) and (R) true

(B) (A) false (R) true

(C) (A) true (R) false

(D) Both (A) and (R) false

Identify the correct sequence.

(A) Kamasian — Kanjeran — Kageran — Gamblian
(B) Gamblian — Kamasian — Kanjeran — Kageran
(C) Kageran — Kamasian — Kanjeran — Gamblian
(D)

Kanjeran — Gamblian — Kamasian — Kageran

Identify the correct sequence.

(A) State — Tribe — Band — Chiefdom

(B) Tribe — Band — Chiefdom — State
(C) Band — Tribe — Chiefdom — State
(D) Chiefdom — State — Tribe — Band
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44. Identify the correct sequence.
A) Sedentary life — Cultivation — Animal Husbandry — Food Collection
B

~—"

(
( Food Collection — Cultivation — Sedentary life — Animal Husbandry
(C) Animal Husbandry — Sedentary life — Food Collection — Cultivation
(

D) Food Collection — Animal Husbandry — Cultivation — Sedentary life

45. Identify the correct sequence.
A) Excavation — Interpretation — Exploration — Classification

B

~—

(
( Exploration — Excavation — Classification — Interpretation
(C) Excavation — Exploration — Interpretation — Classification
(

D) Exploration — Classification — Excavation — Interpretation

46. Identify the correct sequence.
A) Celt — Ovate — Burin — Willow leaf point
B

~—

Willow leaf point — Ovate — Celt — Burin

C) Burin — Celt — Ovate — Willow leaf point

(
(
(
(D) Ovate — Willow leaf point — Burin — Celt

47. Which of the following pairs is not correctly matched ?

(A) School of Eugenics : Galton

(B) Inborn errors of metabolism : Garrod

(C) Molecular structure of DNA : Watson and Crick
(D) Father of Physical Anthropology : T.H. Morgan

48. Which one of the following pairs is not correctly matched ?

(A) Sickle cell disease : Autosomal Recessive
(B) G6 PD deficiency : X-Linked Recessive
(C) Polydactyly : Autosomal Dominant
(D) Haemophilia : Y-Linked
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49. Which of the following pairs is correctly matched ?

(A) Prosimian : Gorilla

(B) Dryopithecine Indonesia

(C) Peking Man : Africa

(D) Homohabilis : Olduvai Gorge

50. Which of the following pairs is correctly matched ?

(A) Genetic polymorphism : E.B. Ford

(B) Sickle cell disease : Sex linked disease

(C) Diabetes : Non-complex disease

(D) Hardy-Weinberg law : Palaeo Anthropology
-00o0-
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